

Construction of diffusion processes associated with a porous medium equation

Masaaki INOUE

(Received June 21, 1988)

§1. Introduction

Let us consider the following Cauchy problem

$$(1.1a) \quad u_t = \frac{1}{2}(u^\alpha)_{xx}, \quad t > 0, x \in \mathbf{R},$$

$$(1.1b) \quad u(0, x) = u_0(x), \quad x \in \mathbf{R},$$

for given $\alpha > 1$. The equation (1.1a) is called a *porous medium equation*. The equation was studied by Kalashnikov, Oleinik, Yui-lin, Aronson, Kamenomostskaya, Peletier and so on. They studied *weak solutions* of the Cauchy problem (1.1) (= (1.1a) + (1.1b)) that are functions $u = u(t, x)$ satisfying

$$(1.2a) \quad u \in L^1([0, T] \times \mathbf{R}) \cap L^\infty([0, T] \times \mathbf{R}) \text{ for all } T > 0 \text{ and}$$

$$(1.2b) \quad \int_0^\infty dt \int_{\mathbf{R}} (\varphi_t u + \frac{1}{2} \varphi_{xx} u^\alpha) dx + \int_{\mathbf{R}} \varphi(0, x) u_0(x) dx = 0$$

for all $\varphi \in C_0^\infty([0, \infty) \times \mathbf{R})$.

Our interest is in a diffusion process $(X = \{X(t)\}, P)$ such that $P(X(t) \in dx) = u(t, x) dx$ for all $t \geq 0$ and the density function $u = u(t, x)$ is a weak solution of the Cauchy problem (1.1). We call it a *diffusion process associated with (1.1)*. But such a diffusion process is not unique. In this paper, we will construct a class of diffusion processes associated with (1.1). Our main result is the following

THEOREM. *Assume the following conditions for the initial function u_0 :*

(A.1) u_0 is a probability density,

(A.2) u_0 is a function of bounded variation,

(A.3) $\int_{\mathbf{R}} |x| u_0(x) dx$ is finite and

(A.4) $(u_0)^\alpha$ has a derivative of bounded variation.

Then there exist a unique weak solution u of (1.1) and a diffusion process $(X = \{X(t)\}, P^\lambda)$ for each $\lambda \in [0, 1]$ such that $u(t, \cdot)$ is the probability density of the distribution of $X(t)$ under P^λ for all $t \geq 0$ and the generator of (X, P^λ) is

$$\left\{ \mathcal{G}_t^\lambda = \frac{\lambda}{2} u(t, x)^{\alpha-1} \frac{\partial^2}{\partial x^2} - \frac{1-\lambda}{2} \cdot \frac{(u^\alpha)_x(t, x)}{u(t, x)} \cdot \frac{\partial}{\partial x} \middle| t \geq 0 \right\}.$$

In the previous paper [6], we introduced a story of the construction of the diffusion process when $\lambda = 1$. Our purpose in this paper is not only to propose this theorem as an existence of diffusion processes but also to explain the construction of the processes as a limit theorem in the probability theory.

§2. Construction of diffusion processes

In this section we explain the outline of our construction of diffusion processes associated with (1.1). The details are postponed to the subsequent sections. The essential idea of the construction is due to Khintchine [9]. He proved a central limit theorem which appeared in a difference approximation of the heat equation. We shall extend his method to the porous medium equation. That is, we define the diffusion processes as limits of some Markov chains.

In §3 we consider the difference approximation of the porous medium equation. Let h be a positive number and $\tau = h^{\alpha+1}$. We consider the mesh $\{(t, x) = (n\tau, jh) | n = 0, 1, \dots, j \in \mathbf{Z}\}$ in $[0, \infty) \times \mathbf{R}$. Denote $u_j^n = u(n\tau, jh)$ for any function u on the mesh. We consider the following difference scheme

$$(2.1a) \quad \frac{u_j^{n+1} - u_j^n}{\tau} = \frac{(u_{j+1}^n)^\alpha - 2(u_j^n)^\alpha + (u_{j-1}^n)^\alpha}{2h^2}, \quad n = 0, 1, \dots, j \in \mathbf{Z},$$

$$(2.1b) \quad u_j^0 = u_0(jh)/c_h, \quad j \in \mathbf{Z}$$

where $u_0(x)$ is an initial function of the Cauchy problem (1.1) with the condition (A.1) ~ (A.4) and $c_h = \sum_{j \in \mathbf{Z}} u_0(jh)h$ is a normalized constant which converges to 1 as $h \rightarrow 0$.

Let u_h be the function on $[0, \infty) \times \mathbf{R}$ defined by

$$(2.2) \quad u_h((n + \theta_1)\tau, (j + \theta_2)h) = \begin{cases} u_j^n + \theta_1(u_{j+1}^{n+1} - u_{j+1}^n) + \theta_2(u_{j+1}^n - u_j^n), & \text{if } 0 \leq \theta_1 \leq \theta_2 \leq 1, \\ u_j^n + \theta_1(u_j^{n+1} - u_j^n) + \theta_2(u_{j+1}^{n+1} - u_{j+1}^n), & \text{if } 0 \leq \theta_2 \leq \theta_1 \leq 1. \end{cases}$$

PROPOSITION 1. *Assume (A.1) and (A.2), then there exists a unique weak solution u of (1.1) such that*

$$(2.3a) \quad \lim_{h \rightarrow 0} \|u_h - u\|_N = 0$$

and

$$(2.3b) \quad \lim_{\varepsilon, \delta \rightarrow 0} \|u(\cdot + \varepsilon, \cdot + \delta) - u\|_N = 0$$

for each $N > 0$ where $\|u\|_N = \sup_{0 \leq t \leq N} \int_{-N}^N |u(t, x)| dx$. Moreover if u_0 satisfies the condition (A.4) too, then u_h converges to u uniformly in any bounded domain of $[0, \infty) \times \mathbf{R}$ and u^α has a bounded derivative $(u^\alpha)_x$ satisfying

$$(2.4a) \quad \lim_{h \rightarrow 0} \|(u_h^\alpha)_x - (u^\alpha)_x\|_N = 0$$

and

$$(2.4b) \quad \lim_{\varepsilon, \delta \rightarrow \infty} \|(u^\alpha)_x(\cdot + \varepsilon, \cdot + \delta) - (u^\alpha)_x\|_N = 0$$

for each $N > 0$.

In §4 we consider the following Markov chains. Put $\mathbf{Z}^N = \{\omega = (\omega_0, \omega_1, \dots) | \omega_n \in \mathbf{Z}\}$ and $S_n(\omega) = \omega_n$ for all $\omega \in \mathbf{Z}^N$. For each $\lambda \in [0, 1]$ and $h > 0$, let P_h^λ be the Markov measure on \mathbf{Z}^N characterized by

$$(2.5a) \quad P_h^\lambda(S_{n+1} = j \pm 1 | S_n = j) \\ = \frac{\lambda}{2} (P_h^\lambda(S_n = j))^{\alpha-1} + \frac{1-\lambda}{2} \cdot \frac{\{(P_h^\lambda(S_n = j))^\alpha - (P_h^\lambda(S_n = j \pm 1))^\alpha\}_+}{P_h^\lambda(S_n = j)},$$

$$P_h^\lambda(S_{n+1} = j | S_n = j) = 1 - P_h^\lambda(S_{n+1} = j + 1 | S_n = j) - P_h^\lambda(S_{n+1} = j - 1 | S_n = j)$$

and

$$(2.5b) \quad P_h^\lambda(S_0 = j) = u_0(jh)h/c_h,$$

where $\{x\}_+ = \max\{x, 0\}$ and $c_h = \sum_{j \in \mathbf{Z}} u_0(jh)h$. Put

$$u_j^n = P_h^\lambda(S_n = j)h^{-1},$$

then the sequence $\{u_j^n\}$ satisfies the difference equation (2.1) for all $\lambda \in [0, 1]$. Therefore $u_j^n = P_h^\lambda(S_n = j)h^{-1}$ is independent of λ .

We will show the convergence of the law of the Markov chains. Let \mathcal{C} be the metric space of all continuous functions $w: [0, \infty) \rightarrow \mathbf{R}$ with the metric $d(w, w') = \sum_{n=1}^\infty 2^{-n} \{\sup_{0 \leq t \leq 2^n} |w(t) - w'(t)| \wedge 1\}$ and \mathcal{F} be the σ -field generated by all cylinder sets in \mathcal{C} . Let X_h be the \mathcal{C} -valued random variable on $(\mathbf{Z}^N, P_h^\lambda)$ such that, for each $\omega \in \mathbf{Z}^N$, $X_h(\omega)$ is the polygonal function whose value at a point $t > 0$ is

$$X_h(t, \omega) = hS_{[t/\tau]}(\omega) + h((t/\tau) - [t/\tau]) \{S_{[t/\tau]+1}(\omega) - S_{[t/\tau]}(\omega)\},$$

where $[x]$ is the integer part of x . Let $P_{X_h}^\lambda$ be the probability measure on $(\mathcal{C}, \mathcal{F})$ such that $P_{X_h}^\lambda(A) = P_h^\lambda(X_h \in A)$ for all $A \in \mathcal{F}$.

PROPOSITION 2. Assume (A.1) ~ (A.4), then the family of probability measures $\{P_{X_h}^\lambda | h > 0\}$ on $(\mathcal{C}, \mathcal{F})$ is tight for each $\lambda \in [0, 1]$.

By the tightness of $\{P_{X_n}^\lambda | h > 0\}$, there exist a sequence $\{h_n\}$ of $\{h\}$ and a probability measure P^λ on $(\mathcal{C}, \mathcal{F})$ such that $P_{X_{h_n}}^\lambda$ converges to P^λ weakly. Let $X(t)$ be the function on \mathcal{C} defined by $X(t, w) = w(t)$ for all $w \in \mathcal{C}$.

In §5 we will prove that the density function of the distribution of $X(t)$ under P^λ is a weak solution of (1.1) given in Proposition 1 and consider a martingale problem about the process $X = \{X(t)\}$ on $(\mathcal{C}, \mathcal{F}, P^\lambda)$.

PROPOSITION 3. *Assume (A.1) ~ (A.3), then we have*

$$(2.6) \quad P^\lambda(X(t) \in dx) = u(t, x)dx$$

and

$$(2.7) \quad E^\lambda[|X(t)|] \leq \int_{\mathbf{R}} |x|u_0(x)dx + (\|u_0\|_\infty^{\alpha-1}t)^{1/2}$$

for all $t \geq 0$ and $\lambda \in [0, 1]$ where $u = u(t, x)$ is a weak solution of (1.1) which is constructed in Proposition 1. Further if u_0 satisfies the condition (A.4) too, then we have

$$(2.8) \quad E^\lambda \left[\left| \frac{(u^\alpha)_x(t, X(t))}{u(t, X(t))} \right|^\alpha \right] < \alpha (\|(u_0^\alpha)_x\|_\infty)^{\alpha-1} V(u_0)$$

for all $t \geq 0$ and $\lambda \in [0, 1]$ where $V(f)$ denotes the total variation of a function f on \mathbf{R} .

PROPOSITION 4. *Assume (A.1) ~ (A.4). Then, for each $\lambda \in [0, 1]$ and $f \in C_0^\infty(\mathbf{R} \rightarrow \mathbf{R})$, the process*

$$(2.9) \left\{ f(X(t)) - \frac{\lambda}{2} \int_0^t u(s, X(s))^{\alpha-1} f''(X(s)) ds + \frac{1-\lambda}{2} \int_0^t \frac{(u^\alpha)_x(s, X(s))}{u(s, X(s))} f'(X(s)) ds \right\}$$

is an $\{\mathcal{F}_t^\lambda\}$ -martingale on (\mathcal{C}, P^λ) where \mathcal{F}_t^λ is the σ -field generated by $\{X(s) | s \leq t\}$ and all P^λ -null sets.

COROLLARY. *Assume (A.1) ~ (A.4). For each $\lambda \in [0, 1]$, the process $X = \{X(t)\}$ on $(\mathcal{C}, \mathcal{F}, P^\lambda)$ satisfies the following stochastic differential equation*

$$(2.10) \quad X(t) = X(0) + \int_0^t \{\lambda u(s, X(s))^{\alpha-1}\}^{1/2} dB(s) - \frac{1-\lambda}{2} \int_0^t \frac{(u^\alpha)_x(s, X(s))}{u(s, X(s))} ds.$$

Finally in §6 we will show the Markov property of the process X on $(\mathcal{C}, \mathcal{F}, P^\lambda)$.

PROPOSITION 5. *Assume (A.1) ~ (A.4). For each $\lambda \in [0, 1]$, the process $X = \{X(t)\}$ on $(\mathcal{C}, \mathcal{F}, P^\lambda)$ is a diffusion process with the generator*

$$(2.11) \quad \left\{ \mathcal{G}_t^\lambda = \frac{\lambda}{2} u(t, x)^{\alpha-1} \frac{\partial^2}{\partial x^2} - \frac{1-\lambda}{2} \cdot \frac{(u^\alpha)_x(t, x)}{u(t, x)} \cdot \frac{\partial}{\partial x} \mid t \geq 0 \right\}.$$

Thus we obtain our main theorem.

REMARK. (i) In case of $\lambda = 1$, we can show our theorem without the assumption (A.4). (ii) In case of $\lambda = 0$, the process $X = \{X(t)\}$ is a deterministic flow satisfying

$$\int_{-\infty}^{X(t)} u(t, x) dx = \int_{-\infty}^{X(0)} u_0(x) dx$$

with probability 1 for all $t \geq 0$.

§3. Difference approximation

The difference approximation of the porous medium equation was studied by Baklanovskaya, Nakaki and so on. We shall use their results. For each $h > 0$, let u_h be the function on $[0, \infty) \times \mathbf{R}$ defined by (2.2). In this section, we prove that u_h converges to a weak solution of (1.1) (i.e. Proposition 1).

Firstly we see the stability of u_h . By the conditions (A.1) and (A.2) in §1, u_0 is bounded and $c_h = \sum_{j \in \mathbf{Z}} u_0(jh)h \rightarrow 1$ as $h \rightarrow 0$. Hence there exists a constant $h_0 > 0$ such that

$$1/2 < c_h < 2$$

for each $h \in (0, h_0)$. Put $M = \alpha(2 \|u_0\|_\infty)^{\alpha-1}$ and $h_1 = \min \{h_0, M^{-1/\alpha-1}\}$.

LEMMA 3.1. Assume the conditions (A.1) and (A.2). For each $h < h_1$, let $\{u_j^n\}$ be a sequence satisfying (2.1). Then we have

$$(3.1) \quad 0 \leq u_j^n \leq \|u_0\|_\infty / c_h, \quad n = 0, 1, \dots, j \in \mathbf{Z}$$

and

$$(3.2) \quad \sum_{j \in \mathbf{Z}} |u_{j+1}^n - u_j^n| \leq V(u_0) / c_h, \quad n = 0, 1, \dots,$$

where $V(f)$ is the total variation of a function $f: \mathbf{R} \rightarrow \mathbf{R}$.

PROOF. The estimate (3.1) were introduced by Baklanovskaya [2]. The estimate (3.2) is easily shown by the relation

$$u_{j+1}^{n+1} - u_j^{n+1} = [1 - ra_j^n](u_{j+1}^n - u_j^n) + \frac{r}{2} a_{j+1}^n (u_{j+2}^n - u_{j+1}^n) + \frac{r}{2} a_{j-1}^n (u_j^n - u_{j-1}^n)$$

where $r = h^{\alpha-1}$ and

$$a_j^n = \{(u_{j+1}^n)^\alpha - (u_j^n)^\alpha\} / (u_{j+1}^n - u_j^n) \in (0, M).$$

LEMMA 3.2 (T. Nakaki [11]). *Assume the conditions (A.1), (A.2) and (A.4). For each $h < h_1$, we have*

$$(3.3) \quad \sup_{j \in \mathbb{Z}} |(u_{j+1}^n)^\alpha - (u_j^n)^\alpha| h \leq \| (u_0^\alpha)_x \|_\infty (c_h)^{-\alpha},$$

$$(3.4) \quad \sum_{j \in \mathbb{Z}} |(u_{j+1}^n)^\alpha - (u_j^n)^\alpha| \leq V(u_0^\alpha)(c_h)^{-\alpha} \text{ and}$$

$$(3.5) \quad \tau^{-1} \sum_{j \in \mathbb{Z}} |(u_j^{n+1})^\alpha - (u_j^n)^\alpha| h \leq MV(u_0^\alpha)(c_h)^{-\alpha}, \text{ for all } n = 0, 1, \dots.$$

Next we prepare the compactness of a function space.

LEMMA 3.3. *Let U be a set of functions $u: [0, \infty) \times \mathbf{R} \rightarrow \mathbf{R}$. Suppose*

$$\sup_{u \in U} (\|u\|_{L^\infty([0, \infty) \times \mathbf{R})} + \sup_{t \geq 0} V(u(t, \cdot))) < \infty$$

and $\left\{ (f * u)(t, x) = \int_{\mathbf{R}} f(x - y)u(t, y) dy : u \in U \right\}$ is equicontinuous for each $f \in C_0^\infty(\mathbf{R})$. *If U is an infinite set, then there exists a sequence $\{u_n\} \subset U$ and a function $u_\infty: [0, \infty) \times \mathbf{R} \rightarrow \mathbf{R}$ such that*

$$\lim_{n \rightarrow \infty} \|u_n - u_\infty\|_N = 0$$

and

$$\lim_{\substack{\varepsilon \rightarrow 0 \\ \delta \rightarrow 0}} \|u_\infty(\cdot + \varepsilon, \cdot + \delta) - u_\infty\|_N = 0$$

for each $N > 0$ where $\|u\|_N$ is as in Proposition 1. Especially if

$$U_{a,K} = \{u \in U \mid \sup_{t \geq 0} |u(t, x) - u(t, y)| \leq K|x - y|^a\}$$

is an infinite set for some $a, K > 0$, then there exists a sequence $\{u_n\} \subset U_{a,K}$ such that u_n converges uniformly in any bounded domain of $[0, \infty) \times \mathbf{R}$.

PROOF. Let $\rho \in C_0^\infty$ be a probability density function on \mathbf{R} satisfying $\text{supp}(\rho) \subset (-1, 1)$. Put $\rho_n(x) = n\rho(nx)$, then $\{u * \rho_n \mid u \in U\}$ is uniformly bounded and equicontinuous for each $n \in \mathbf{N}$. We can choose a sequence $\{u_n\} \subset U$ such that $\{u_n * \rho_n \mid n \geq N\}$ is a Cauchy sequence with respect to the norm $\|\cdot\|_N$ for each $N \in \mathbf{N}$. Putting

$$u_\infty = \lim_{n \rightarrow \infty} u_n * \rho_n$$

we get Lemma 3.3, because

$$\|u * \rho_n - u\|_N \leq \frac{1}{n} \sup_{0 \leq t \leq N} V(u(t, \cdot))$$

for any $u \in U$ and

$$\sup_{\substack{0 \leq t \leq \infty \\ x \in \mathbf{R}}} |(u * \rho_n)(t, x) - u(t, x)| \leq Kn^{-\alpha}$$

for any $u \in U_{a,K}$.

LEMMA 3.4. *Assume the conditions (A.1) and (A.2). Then there exist a weak solution u of (1.1) and sequence $\{h_n\}$ such that $\|u_{h_n} - u\|_N \rightarrow 0$ as $n \rightarrow \infty$ and $\|u(\cdot + \varepsilon, \cdot + \delta) - u\|_N \rightarrow 0$ as $\varepsilon, \delta \rightarrow 0$ for each $N > 0$.*

PROOF. By the definition of u_h and the estimate (3.1), we see

$$|(f * u_h)(t, x) - (f * u_h)(s, y)| \leq \|f'\|_\infty |x - y| + \frac{1}{2} \|\Delta_h f\|_\infty C_0^{\alpha-1} |t - s|$$

for all $t, s \geq 0, x \in \mathbf{R}$ and $f \in C_0^\infty(\mathbf{R} \rightarrow \mathbf{R})$ where $C_0 = 2\|u_0\|_\infty$ and

$$(\Delta_h f)(x) = \{f(x + h) - 2f(x) + f(x - h)\}h^{-2}.$$

Put $U = \{u_h | 0 < h < h_1\}$, then U satisfies the conditions of Lemma 3.3. Hence there exist a function u and a sequence $\{h_n\}$ of $\{h\}$ such that $\|u_{h_n} - u\|_N \rightarrow 0$ as $n \rightarrow \infty$. Note $\sum_{j=-\infty}^\infty u_j^n h = 1$ and (3.1), then we get

$$\|u\|_{L^1([0, T] \times \mathbf{R})} \leq T \quad \text{and} \quad \sup_{t \geq 0, x \in \mathbf{R}} |u(t, x)| \leq C_0$$

which implies $u \in L^1([0, T] \times \mathbf{R}) \cap L^\infty([0, T] \times \mathbf{R})$ for all $T > 0$. Note that, for

each $\varphi \in C_0^\infty(\mathbf{R})$, $\left\{ \int_{\mathbf{R}} \varphi(t, x) u_h(t, x) dx | 0 < h < h_1 \right\}$ is equicontinuous on $[0, \infty)$ and $\varphi(t, x) u_h(t, x)$ is a function of bounded variation with respect to $x \in \mathbf{R}$ for all $t \geq 0$. Put $\varphi_j^n = \varphi(n\tau, jh)$, $u_j^n = u_h(n\tau, jh)$. From the difference equation (2.1), we have

$$\begin{aligned} \int_0^\infty dt \int_{\mathbf{R}} u(t, x) \varphi_t(t, x) dx &= \lim_{h \rightarrow 0} \tau h \sum_{n=0}^\infty \sum_{j \in \mathbf{Z}} u_j^n \frac{\varphi_j^{n+1} - \varphi_j^n}{\tau} \\ &= \lim_{h \rightarrow 0} \left\{ -\tau h \sum_{n=0}^\infty \sum_{j \in \mathbf{Z}} (u_j^n)^{\alpha} \frac{\varphi_j^{n+1} - 2\varphi_j^n + \varphi_j^{n-1}}{2h^2} - h \sum_{j \in \mathbf{Z}} u_j^0 \varphi_j^0 \right\} \\ &= - \int_0^\infty dt \int_{\mathbf{R}} u^\alpha \cdot \frac{1}{2} \varphi_{xx} dx - \int_{\mathbf{R}} u_0(x) \varphi(0, x) dx. \end{aligned}$$

It follows that u is a weak solution of (1.1).

Using Lemma 3.2, Nakaki [11] proved the following

LEMMA 3.5. *Assume the conditions (A.1), (A.2) and (A.4). Then there exist a weak solution u of (1.1) and a sequence $\{h_n\}$ such that u_{h_n} converges to u uniformly in any bounded domain and $\|(u_{h_n}^\alpha)_x - (u^\alpha)_x\|_N \rightarrow 0$ as $n \rightarrow \infty$ and $\|(u^\alpha)_x(\cdot + \varepsilon, \cdot + \delta) - (u^\alpha)_x\|_N \rightarrow 0$ as $\varepsilon, \delta \rightarrow 0$ for each $N > 0$.*

By Lemmas 3.4, and 3.5 and [14], Proposition 1 is proved.

§4. Markov chains and tightness

Let $\lambda \in [0, 1]$ and $h > 0$. In this section we consider the Markov chain $\{S_n\}$ on $(\mathbf{Z}^N, P_h^\lambda)$ defined in §2 and we prove Proposition 2. Firstly we consider the martingale property of the Markov chain. Let $u_j^n = P_h^\lambda(S_n = j)h^{-1}$ and \mathcal{B}_n be the σ -field on \mathbf{Z}^N generated by $\{S_i: i \leq n\}$. Put

$$d_n^\pm(j) = \frac{1 - \lambda}{2} \{ (u_j^n)^\alpha - (u_{j \mp 1}^n)^\alpha \} + (u_j^n h).$$

Remember the definition of the Markov measure P_h^λ and the relation $u_j^n = u_h(n\tau, jh)$, then we can show the following

LEMMA 4.1. *For each function $f: \mathbf{Z} \rightarrow \mathbf{R}$, the process*

$$\left\{ f(S_n) - \sum_{i=0}^{n-1} \left[\frac{\lambda}{2} (u_h(i\tau, S_i h))^{\alpha-1} (f(S_i + 1) - 2f(S_i) + f(S_i - 1)) h^{-2} + d_i^+(S_i)(f(S_i + 1) - f(S_i)) h^{-1} + d_i^-(S_i)(f(S_i - 1) - f(S_i)) h^{-1} \right] \tau \right\}$$

is a $\{\mathcal{B}_n\}$ -martingale on $(\mathbf{Z}^N, P_h^\lambda)$.

Put

$$D_n^\pm = d_n^+(S_n) \pm d_n^-(S_n)$$

and

$$M_n = S_n - S_0 - \sum_{i=0}^{n-1} D_i^- \tau h^{-1}.$$

By Lemma 4.1, the process $\{M_n\}$ is a $\{\mathcal{B}_n\}$ -martingale on $(\mathbf{Z}^N, P_h^\lambda)$ satisfying

$$(4.1) \quad E_h^\lambda [|M_n - M_k|^2] = E_h^\lambda [\sum_{i=k}^{n-1} \{ \lambda (u_h(i\tau, S_i h))^{\alpha-1} + D_i^+ h - (D_i^-)^2 \tau \} \tau h^{-2}].$$

Moreover we have

LEMMA 4.2. *Assume (A.1) and (A.2). Then there exists a constant $K_1 > 0$ depending only on α, λ and $\|u_0\|_\infty$ such that*

$$(4.2) \quad E_h^\lambda [|M_n - M_k|^4] \leq K_1 \{ (n - k)^2 \tau^2 + (n - k)^{3/2} \tau^{3/2} h + (n - k) \tau h^2 \} h^{-4}$$

for all $n > k \geq 0$. If we assume (A.4) too, then

$$(4.3) \quad E_h^\lambda [|d_n^\pm(S_n)|^\alpha] \leq \alpha (\|u_0^\alpha\|_\infty)^{\alpha-1} V(u_0) c_n^{-\alpha(\alpha-1)-1}$$

for all $n \geq 0$.

PROOF. Let $v_n = \lambda u_h(n\tau, S_n h)^{\alpha-1} \tau h^{-2} + D_n^+ \tau h^{-1}$ and $d_n = D_n^- \tau h^{-2}$. For each $m \in \mathbf{N}$, we see

$$\begin{aligned} & E_h^\lambda [|M_n - M_k|^{2m}] \\ &= E_h^\lambda [\sum_{i=k}^{n-1} \{ (M_i - d_i - M_k)^{2m} - (M_i - M_k)^{2m} \\ &\quad + v_i \sum_{\ell=1}^m C_{2\ell} (M_i - d_i - M_k)^{2m-2\ell} \\ &\quad + d_i \sum_{\ell=1}^m C_{2\ell-1} (M_i - d_i - M_k)^{2m-2\ell+1} \}]. \end{aligned}$$

Put $m = 2$, then we have (4.2). By Lemma 3.2, we get

$$\begin{aligned} E_h^\lambda [|d_n^\pm(S_n)|^\alpha] &\leq \sum_{j \in \mathbb{Z}} \frac{\{(u_j^n)^\alpha - (u_{j \pm 1}^n)^\alpha\}_+}{(u_j^n)^\alpha h^\alpha} \cdot u_j^n h \\ &\leq (\| (u_0^\alpha)_x \|_\infty c_h^{-\alpha})^{\alpha-1} \sum_{j \in \mathbb{Z}} \frac{\{(u_j^n)^\alpha - (u_{j \pm 1}^n)^\alpha\}_+}{(u_j^n)^{\alpha-1} |u_j^n - u_{j \pm 1}^n|} \cdot |u_j^n - u_{j \pm 1}^n| \\ &\leq \alpha (\| (u_0^\alpha)_x \|_\infty)^{\alpha-1} V(u_0) c_h^{-\alpha(\alpha-1)-1} \end{aligned}$$

which implies (4.3).

Now we consider the convergence of the Markov chains. Let $P_{X_h}^\lambda$ be the probability measure on $(\mathcal{C}, \mathcal{F})$ defined in §2. We show the tightness of $\{P_{X_h}^\lambda | h > 0\}$.

PROOF OF PROPOSITION 2. It is enough to show

$$(4.4) \quad \lim_{N \rightarrow \infty} \limsup_{h \rightarrow 0} P_{X_h}^\lambda (|X(0)| > N) = 0$$

and

$$(4.5) \quad \lim_{\delta \downarrow 0} \limsup_{h \rightarrow 0} P_{X_h}^\lambda (\max_{\substack{0 \leq t, s \leq T \\ |t-s| < \delta}} |X(t) - X(s)| > \varepsilon) = 0$$

for each $\varepsilon > 0$ and $T > 0$. By the definition of $P_{X_h}^\lambda$, we have

$$P_{X_h}^\lambda (|X(0)| > N) \leq \frac{h}{N} E_h^\lambda [|S_0|].$$

By the assumption (A.3), $\lim_{h \rightarrow 0} E_h^\lambda [|S_0|] = \int_{\mathbb{R}} |x| u_0(x) dx$ is finite, which implies

(4.4). Next we show (4.5). Fix $\varepsilon > 0$, $T > 0$ and $\delta > 0$. For each $h \in (0, (\varepsilon/2) \wedge h_1)$, put

$$\begin{aligned} \varepsilon' &= (\varepsilon - 2h)/2h, \quad N = [2T/\delta] \\ k_i &= [i\delta/2\tau] \quad \text{and} \quad m_i = [(i+2)\delta/2\tau] + 1. \end{aligned}$$

Then we have

$$\begin{aligned} P_{X_h}^\lambda (\max_{\substack{0 \leq t, s \leq T \\ |t-s| < \delta}} |X(t) - X(s)| > \varepsilon) &\leq \sum_{i=0}^{N-1} P_h^\lambda (\max_{k_i \leq n \leq m_i} |S_n - S_{k_i}| > \varepsilon') \\ &\leq \sum_{i=0}^{N-1} P_h^\lambda (\max_{k_i \leq n \leq m_i} |M_n - M_{k_i}| > \varepsilon'/2 \\ &\quad + \sum_{\ell=0}^{N-1} P_h^\lambda (\max_{k_i \leq n \leq m_i} |\sum_{\ell=k_i}^{n-1} D_\ell^- \tau h^{-1}| > \varepsilon'/2) \end{aligned}$$

$$\begin{aligned} &\leq \sum_{i=0}^{N-1} \{ (2/\varepsilon')^4 E_h^\lambda [|M_{m_i} - M_{k_i}|^4] + (2/\varepsilon')^\alpha E_h^\lambda [(\sum_{\ell=k_i}^{m_i-1} |D_\ell^- \tau h^{-1}|)^\alpha] \} \\ &\leq \sum_{i=0}^{N-1} \{ (2/\varepsilon')^4 K_1((m_i - k_i)^2 \tau^2 + (m_i - k_i)^{3/2} \tau^{3/2} h \\ &\qquad\qquad\qquad + (m_i - k_i) \tau h^2) h^{-4} + (2/\varepsilon')^\alpha K_2(m_i - k_i)^\alpha \tau^\alpha h^{-\alpha} \} \\ &\leq N \{ (2/h\varepsilon')^4 K_1((\delta + 2\tau)^2 + (\delta + 2\tau)^{3/2} h + (\delta + 2\tau) h^2) + (2/h\varepsilon')^\alpha K_2(\delta + 2\tau)^\alpha \}, \end{aligned}$$

where $K_2 = \alpha(\|u_0\|_\infty)^\alpha V(u_0) 2^{\alpha(\alpha-1)+1}$. It follows that

$$\limsup_{h \rightarrow 0} P_{X_h}^\lambda (\max_{0 \leq t, s \leq T} |X(t) - X(s)| > \varepsilon) \leq 2T \{ (4/\varepsilon)^4 K_1 \delta + (4/\varepsilon)^\alpha K_2 \delta^{\alpha-1} \},$$

which implies (4.5).

§5. Martingale problem

By the tightness of $\{P_{X_h}^\lambda\}$, there exist a sequence $\{h_n\}$ of $\{h\}$ and a probability measure P^λ on $(\mathcal{C}, \mathcal{F})$ such that $P_{X_h}^\lambda$ converges to P^λ weakly. In this section we shall prove Propositions 3 and 4.

LEMMA 5.1. *Assume (A.1) ~ (A.3). Then we have*

$$(5.1) \qquad P^\lambda(X(t) \in dx) = u(t, x) dx$$

and

$$(5.2) \qquad E^\lambda[|X(t)|] \leq \int_{\mathbf{R}} |x| u_0(x) dx + ((\|u_0\|_\infty)^{\alpha-1} t)^{1/2}$$

for all $t > 0$ and $\lambda \in [0, 1]$ where $u(t, x)$ is a weak solution of (1.1).

PROOF. Firstly we show (5.1). For each $f \in C_0^1(\mathbf{R})$, we have

$$\begin{aligned} E^\lambda[f(X(t))] &= \lim_{h \rightarrow 0} E_{X_h}^\lambda[f(X(t))] = \lim_{h \rightarrow 0} E_h^\lambda[f(X_h([t/\tau]\tau))] \\ &= \lim_{h \rightarrow 0} \sum_{j \in \mathbf{Z}} f(jh) u_h([t/\tau]\tau, jh) h \\ &= \lim_{h \rightarrow 0} \int_{\mathbf{R}} f(x) u_h([t/\tau]\tau, x) dx = \int_{\mathbf{R}} f(x) u(t, x) dx, \end{aligned}$$

which implies (5.1). Next we show (5.2). Take an increasing sequence of functions $\{f_n\} \subset C_0^1(\mathbf{R})$ satisfying $f_n(x) \uparrow |x|$ as $n \rightarrow \infty$. By (5.1), we have

$$E^\lambda[f_n(X(t))] = E^1[f_n(X(t))] \leq \limsup_{h \rightarrow 0} E_h^1[|S_k h|]$$

where $k = [t/\tau]$. By (4.1) at $\lambda = 1$, we have

$$\begin{aligned} E_h^1[|S_k h|] &\leq E_h^1[|S_0 h|] + (E_h^1[|M_k h|^2])^{1/2} \\ &\leq \sum_{j \in \mathbf{Z}} |jh| u_0(jh) h / c_h + ((\|u_0\|_\infty)^{\alpha-1} k \tau)^{1/2} c_h^{-(\alpha-1)/2} \end{aligned}$$

It follows that

$$E^\lambda[|X(t)|] = \lim_{n \rightarrow \infty} E^\lambda[f_n(X(t))] \leq \int_{\mathbf{R}} |x| u_0(x) dx + ((\|u_0\|_\infty)^{\alpha-1} t)^{1/2},$$

as was to be proved.

LEMMA 5.2. Assume (A.1) ~ (A.4). Then we have

$$(5.3) \quad E^\lambda \left[\left| \frac{(u^\alpha)_x(t, X(t))}{u(t, X(t))} \right|^\alpha \right] < \alpha (\|u_0^\alpha\|_\infty)^{\alpha-1} V(u_0)$$

for all $t \geq 0$ and $\lambda \in [0, 1]$.

PROOF. By the uniform convergence of u_h , we have

$$\begin{aligned} & E^\lambda \left[\left| \frac{(u^\alpha)_x(t, X(t))}{u(t, X(t))} \right|^\alpha \mid u(t, X(t)) > \varepsilon \right] \\ & \leq \limsup_{h \rightarrow 0} E_h^\lambda \left[\left| \frac{(u_h^\alpha)_x(n\tau, S_n h)}{u_h(n\tau, S_n h)} \right|^\alpha \mid u_h(n\tau, S_n h) > \varepsilon/2 \right] = (*) \end{aligned}$$

for each $\varepsilon > 0$ where $n = [t/\tau]$. By Lemma 4.2, we have

$$(*) \leq \alpha (\|u_0^\alpha\|_\infty)^{\alpha-1} V(u_0)$$

for each $\varepsilon > 0$. Letting $\varepsilon \rightarrow 0$ we have (5.3).

Lemmas 5.1 and 5.2 together imply Proposition 3.

PROOF OF PROPOSITION 4. Fix $f \in C_0^\infty(\mathbf{R} \rightarrow \mathbf{R})$ and $g \in C_b(\mathbf{R} \rightarrow \mathbf{R})$. We show that

$$(5.4) \quad \begin{aligned} & E^\lambda[f(X(t))g(X(s))] \\ & = E^\lambda \left[\left\{ f(X(s)) + \int_s^t \frac{\lambda}{2} (\theta, X(\theta))^{\alpha-1} f''(X(\theta)) d\theta \right. \right. \\ & \quad \left. \left. - \int_s^t \frac{1-\lambda}{2} \cdot \frac{(u^\alpha)_x(\theta, X(\theta))}{u(\theta, X(\theta))} f'(X(\theta)) d\theta \right\} g(X(s)) \right] \end{aligned}$$

for each $t > s \geq 0$. By Lemma 4.1, we get

$$\begin{aligned} & E^\lambda[f(X(t))g(X(s))] \\ & = \lim_{n \rightarrow \infty} E_h^\lambda \left[\left\{ f(S_k h) + \sum_{i=k}^{n-1} \frac{\lambda}{2} u_h(i\tau, S_i h)^{\alpha-1} f''(S_i h) \tau - \sum_{i=k}^{n-1} D_i^- f'(S_i h) \tau \right\} g(S_k h) \right], \end{aligned}$$

where $n = [t/\tau]$ and $k = [s/\tau]$. By the uniform convergence of u_h , we have

$$\begin{aligned} & \lim_{h \rightarrow 0} E_h^\lambda \left[\left\{ f(S_k h) + \sum_{i=k}^{n-1} \frac{\lambda}{2} u_h(i\tau, S_i h)^{\alpha-1} f''(S_i h) \tau \right\} g(S_k h) \right] \\ &= E^\lambda \left[\left\{ f(X(s)) + \int_s^t \frac{\lambda}{2} u(\theta, X(\theta))^{\alpha-1} f''(X(\theta)) d\theta \right\} g(X(s)) \right]. \end{aligned}$$

Next we put

$$E_h^\lambda [\{ \sum_{i=k}^{n-1} D_i^- f'(S_i h) \tau \} g(S_k h)] = \sum_{i=k}^{n-1} (J_i + \varepsilon_i) \tau,$$

where

$$J_i = E_h^\lambda [D_i^- f'(S_i h) \chi_{\{u(i\tau, S_i h) > \varepsilon\}} g(S_k h)]$$

and

$$\varepsilon_i = E_h^\lambda [D_i^- f'(S_i h) \chi_{\{u(i\tau, S_i h) \leq \varepsilon\}} g(S_k h)]$$

for each $\varepsilon > 0$. Then we have

$$\begin{aligned} | \varepsilon_i | &\leq (1 - \lambda) \sum_{j \in \mathbb{Z}} | (u_j^i)^\alpha - (u_{j+1}^i)^\alpha | |f'(jh)| \chi_{\{u(i\tau, jh) \leq \varepsilon\}} \|g\|_\infty \\ &\leq (1 - \lambda) \|f'\|_\infty \|g\|_\infty \sum_{j \in \mathbb{Z}} \alpha (u_j^i \vee u_{j+1}^i)^{\alpha-1} |u_j^i - u_{j+1}^i| \chi_{\{u(i\tau, jh) \leq \varepsilon\}}. \end{aligned}$$

By the uniform convergence of u_h , we get

$$\limsup_{h \rightarrow 0} | \sum_{i=k}^{n-1} \varepsilon_i \tau | \leq \|f'\|_\infty \|g\|_\infty |t - s| \alpha (2\varepsilon)^{\alpha-1} \mathbf{V}(u_0).$$

On the other hand, we have

$$\left| J_i - E_h^\lambda \left[- \frac{(u_x^\alpha)(i\tau, S_i h)}{u(i\tau, S_i h)} f'(S_i h) \chi_{\{u(i\tau, S_i h) > \varepsilon\}} g(S_k h) \right] \right| \leq I_i^+ + I_i^-,$$

where

$$I_i^\pm = E_h^\lambda \left[\left| \frac{\{(u_{S_i}^i)^\alpha - u_{S_i \pm 1}^i\}^\alpha}{u_{S_i}^i} - \frac{\{\mp (u_x^\alpha)(i\tau, S_i h)\}^\alpha}{u(i\tau, S_i h)} \right| |f'(S_i h)| \chi_{\{u(i\tau, S_i h) > \varepsilon\}} |g(S_k h)| \right].$$

By the $\| \cdot \|_N$ -convergence of $(u_h^\alpha)_x$ and the uniform convergence of u_h , we get

$$\lim_{h \rightarrow 0} \sum_{i=k}^{n-1} (I_i^+ + I_i^-) \tau = 0.$$

By the uniform continuity of u , we have

$$\begin{aligned} & \lim_{h \rightarrow 0} \sum_{i=k}^{n-1} J_i \tau \\ &= \lim_{h \rightarrow 0} E_h^\lambda \left[- \frac{1 - \lambda}{2} \int_s^t \frac{(u_x^\alpha)(\tau_\theta, X(\tau_\theta))}{u(\theta, X(\theta))} f'(X(\theta)) \chi_{\{u(\theta, X(\theta)) > \varepsilon\}} d\theta g(X(s)) \right] \end{aligned}$$

where $\tau_\theta = [\theta/\tau]$. By the continuity of $(u_x^\alpha)_x$ with respect to the norm $\| \cdot \|_N$ (see Lemma 3.5), the above limit is

$$E^\lambda \left[-\frac{1-\lambda}{2} \int_s^t \frac{(u^\alpha)_x(\theta, X(\theta))}{u(\theta, X(\theta))} f'(X(\theta)) \chi_{\{u(\theta, X(\theta)) > \varepsilon\}} d\theta g(X(s)) \right].$$

It follows that

$$\begin{aligned} & E^\lambda [f(X(t))g(X(s))] \\ &= E^\lambda \left[\left\{ f(X(s)) + \int_s^t \frac{\lambda}{2} u(\theta, X(\theta))^{\alpha-1} f''(X(\theta)) d\theta \right. \right. \\ & \quad \left. \left. - \frac{1-\lambda}{2} \int_s^t \frac{(u^\alpha)_x(\theta, X(\theta))}{u(\theta, X(\theta))} f'(X(\theta)) \chi_{\{u(\theta, X(\theta)) > \varepsilon\}} d\theta \right\} g(X(s)) \right] + \lim_{n \rightarrow 0} \sum_{i=k}^{n-1} \varepsilon_i \tau \end{aligned}$$

for each $\varepsilon > 0$. Letting $\varepsilon \rightarrow 0$ we have (5.4), because

$$\begin{aligned} & \left| E^\lambda \left[\int_s^t \frac{(u^\alpha)_x(\theta, X(\theta))}{u(\theta, X(\theta))} f'(X(\theta)) \chi_{\{u(\theta, X(\theta)) > \varepsilon\}} d\theta g(X(s)) \right] \right. \\ & \quad \left. - E^\lambda \left[\int_s^t \frac{(u^\alpha)_x(\theta, X(\theta))}{u(\theta, X(\theta))} f'(X(\theta)) d\theta g(X(s)) \right] \right| \\ & \leq \|g\|_\infty \|f'\|_\infty \int_s^t d\theta \left(E^\lambda \left[\left| \frac{(u^\alpha)_x(\theta, X(\theta))}{u(\theta, X(\theta))} \right|^\alpha \right] \right)^{1/\alpha} \left(E^\lambda [\chi_{\{u(\theta, X(\theta)) \leq \varepsilon\}}] \right)^{(\alpha-1)/\alpha} \end{aligned}$$

$\rightarrow 0$ (as $\varepsilon \rightarrow 0$). Using the same method as above, we have the same formula as (5.4) for $g(X(s))g_1(X(s_1)) \cdots g_m(X(s_m))$ in place of $g(X(s))$ for any $s_1, \dots, s_m \in [0, s]$ and $g_1, \dots, g_m \in C_b(\mathbf{R} \rightarrow \mathbf{R})$. Therefore we have

$$\begin{aligned} & E^\lambda [f(X(t)) | \mathcal{F}_s^\lambda] \\ &= E^\lambda \left[\left\{ f(X(s)) + \int_s^t \frac{\lambda}{2} u(\theta, X(\theta))^{\alpha-1} f''(X(\theta)) d\theta \right. \right. \\ & \quad \left. \left. - \frac{1-\lambda}{2} \int_s^t \frac{(u^\alpha)_x(\theta, X(\theta))}{u(\theta, X(\theta))} f'(X(\theta)) d\theta \right\} \middle| \mathcal{F}_s^\lambda \right], \end{aligned}$$

for all $t > s \geq 0$. Thus the process (2.9) is an $\{\mathcal{F}_t^\lambda\}$ -martingale on $(\mathcal{C}, \mathcal{F}, P^\lambda)$.

PROOF OF COROLLARY OF PROPOSITION 4. We prove the stochastic differential equation (2.10). Put

$$D(t) = -\frac{1-\lambda}{2} \int_0^t \frac{(u^\alpha)_x(s, X(s))}{u(s, X(s))} ds$$

and

$$M(t) = X(t) - X(0) - D(t),$$

then $M(t)$ is an $\{\mathcal{F}_t^\lambda\}$ -martingale on $(\mathcal{C}, \mathcal{F}, P^\lambda)$ satisfying

$$E^\lambda[|M(t) - M(s)|^2] = E^\lambda \left[\int_s^t \lambda u(\theta, X(\theta))^{\alpha-1} d\theta \right]$$

and

$$E^\lambda[|M(t)|^4] \leq 3(\|u_0\|_\infty)^{2(\alpha-1)}t^2.$$

If $\lambda \neq 0$, then

$$B(t) \equiv \int_0^t \{\lambda u(s, X(s))^{\alpha-1}\}^{-1/2} dM(s)$$

is an $\{\mathcal{F}_t^\lambda\}$ -Brownian motion on $(\mathcal{C}, \mathcal{F}, P^\lambda)$ and

$$M(t) = \int_0^t \{\lambda u(s, X(s))^{\alpha-1}\}^{1/2} dB(s),$$

which implies (2.10) for each $\lambda \in (0, 1]$. If $\lambda = 0$, then, by the equation (4.1), we have

$$\begin{aligned} E^0 & \left[\left| X(t) - X(0) + \frac{1}{2} \int_0^t \frac{(u^\alpha)_x(s, X(s))}{u(s, X(s))} ds \right|^2 \right] \\ & = \lim_{h \rightarrow 0} E_h^0 \left[\left| S_{[t/\tau]} h - S_0 h + \sum_{i=1}^{[t/\tau]-1} \frac{1}{2} (d_i^+(S_i) - d_i^-(S_i)) \tau \right|^2 \right] \\ & = \lim_{h \rightarrow 0} E_h^0 \left[\sum_{i=0}^{[t/\tau]-1} (D_i^+ h - (D_i^-)^2 \tau) \right] \\ & \leq \lim_{h \rightarrow 0} 2t \{ \alpha (\|u_0^\alpha\|_\infty)^{\alpha-1} V(u_0) \}^{1/\alpha} h = 0. \end{aligned}$$

It follows that the process X on $(\mathcal{C}, \mathcal{F}, P^0)$ satisfies (2.10) with probability 1.

§6. Markov property

In this section we show that the process X on $(\mathcal{C}, \mathcal{F}, P^\lambda)$ is a Markov process. Let p_n^λ and S_n be as in §2. Firstly we prepare the following.

LEMMA 6.1. *Let f be a function of bounded variation on \mathbf{R} into \mathbf{R} . Fix an integer $n > 0$. Put*

$$p_m^k = E_h^\lambda [f(S_n h) | S_k = m]$$

for $k \leq n$ and $m \in \mathbf{Z}$. Then we have

$$(6.1) \quad \sum_{m \in \mathbf{Z}} |p_m^k - p_{m-1}^k| \leq V(f)$$

for all $0 \leq k \leq n$.

PROOF. By the definition of p_m^k , it satisfies the following backward difference equation

$$\frac{p_m^{k-1} - p_m^k}{\tau} = \frac{\lambda (u_m^{k-1})^\alpha p_{m+1}^k - 2p_m^k + p_{m-1}^k}{h^2} + \frac{1 - \lambda}{2} \left\{ a_m^{k-1} \frac{p_{m+1}^k - p_m^k}{h} + b_m^{k-1} \frac{p_{m-1}^k - p_m^k}{h} \right\}, \quad k \leq n, \quad m \in \mathbf{Z},$$

and

$$p_m^n = f(mh), \quad m \in \mathbf{Z},$$

where

$$u_m^k = P_h^\lambda(S_k = m)h^{-1}$$

and

$$a_m^k = \{(u_m^k)^\alpha - (u_{m+1}^k)^\alpha\} / (u_m^k h), \quad b_m^k = \{(u_m^k)^\alpha - (u_{m-1}^k)^\alpha\} / (u_m^k h).$$

Put $c_m^k = p_{m+1}^k - p_m^k$, then we have

$$c_m^{k-1} = \left[1 - \frac{\lambda}{2} \{(u_{m+1}^{k-1})^{\alpha-1} + (u_m^{k-1})^{\alpha-1}\} r - \frac{1 - \lambda}{2} \{a_m^{k-1} + b_{m+1}^{k-1}\} rh \right] c_m^k + \left\{ \frac{\lambda}{2} (u_{m+1}^{k-1})^{\alpha-1} + \frac{1 - \lambda}{2} a_{m+1}^{k-1} h \right\} r c_{m+1}^k + \left\{ \frac{\lambda}{2} (u_m^{k-1})^{\alpha-1} + \frac{1 - \lambda}{2} b_m^{k-1} h \right\} r c_{m-1}^k$$

where $r = \tau h^{-2}$. Using the estimate $0 \leq (u_m^k)^{\alpha-1} \tau h^{-2} < 1$, we get

$$\sum_{m \in \mathbf{Z}} |c_m^{k-1}| \leq \sum_{m \in \mathbf{Z}} |c_m^k| \leq \sum_{m \in \mathbf{Z}} |c_m^n| = \sum_{m \in \mathbf{Z}} |f((m+1)h) - f(mh)| \leq V(f)$$

which is (6.1).

PROOF OF PROPOSITION 5. For simplicity of the notation, we write $h > 0$ instead of $h_n > 0$ in §5. Fix $f \in C_0^\infty(\mathbf{R})$ and $t > s \geq 0$. For each $h > 0$, let

$$p_m = E_h^\lambda [f(S_n h) | S_k = m]$$

where $n = [t/\tau]$ and $k = [s/\tau]$. By Lemma 6.1, we see

$$\sum_{m \in \mathbf{Z}} |p_{m+1} - p_m| \leq V(f).$$

Let p_h be the continuous function on \mathbf{R} defined by

$$p_h(x) = p_{[x/h]} + (x/h - [x/h])(p_{[x/h]+1} - p_{[x/h]}).$$

Then we have

$$V(p_h) \leq V(f).$$

By Lemma 3.3, there exist a function $p(x)$ and a sequence $\{h_n\}$ of $\{h\}$ such that

$$\lim_{n \rightarrow \infty} \int_{-N}^N |p_{h_n}(x) - p(x)| dx = 0,$$

and

$$\lim_{\varepsilon \rightarrow 0} \int_{-N}^N |p(x + \varepsilon) - p(x)| dx = 0$$

for each $N > 0$. Let g be a bounded continuous function on \mathbf{R} with compact support and g_1, \dots, g_m be bounded continuous functions on \mathbf{R} . For any $s > s_1 > \dots > s_m \geq 0$, we have

$$\begin{aligned} & E^\lambda [f(X(t))g(X(s))g_1(X(s_1)) \cdots g_m(X(s_m))] \\ &= \lim_{h \rightarrow 0} E_h^\lambda [f(S_\ell h)g(S_k h)g_1(S_{k_1} h) \cdots g_m(S_{k_m} h)] \end{aligned}$$

where $\ell = [t/\tau]$, $k = [s/\tau]$, $k_1 = [s_1/\tau], \dots, k_m = [s_m/\tau]$. By the Markov property of $\{S_n\}$ and the convergence of p_{h_n} , the above limit is equal to

$$\begin{aligned} & \lim_{n \rightarrow \infty} E_{h_n}^\lambda [p_{h_n}(S_k h_n)g(S_k h_n)g_1(S_{k_1} h_n) \cdots g_m(S_{k_m} h_n)] \\ &= E^\lambda [p(X(s))g(X(s))g_1(X(s_1)) \cdots g_m(X(s_m))]. \end{aligned}$$

It follows that

$$E^\lambda [f(X(t)) | X(s), X(s_1), \dots, X(s_m)] = p(X(s)) = E^\lambda [f(X(t)) | X(s)]$$

for any $s_1, s_2, \dots, s_m \in [0, s] (m \in \mathbf{N})$ and $f \in C_0^\infty(\mathbf{R} \rightarrow \mathbf{R})$. Therefore the Markov property of the process X on $(\mathcal{C}, \mathcal{F}, P^\lambda)$ has been proved. Next we calculate the generator of it. Fix $f \in C_0^\infty(\mathbf{R})$ and $t > 0$. By Proposition 4, we get

$$\begin{aligned} & E^\lambda [f(X(t + \varepsilon)) | X(t) = x] \\ &= E^\lambda \left[f(X(t)) + \int_t^{t+\varepsilon} \frac{\lambda}{2} f''(X(s)) u(s, X(s))^{\alpha-1} ds \right. \\ & \quad \left. - \frac{1-\lambda}{2} \int_t^{t+\varepsilon} f'(X(s)) \frac{(u^\alpha)_x(s, X(s))}{u(s, X(s))} ds \middle| X(t) = x \right] \end{aligned}$$

for each $\varepsilon > 0$. Therefore the generator of X is

$$\begin{aligned} (\mathcal{G}_t^\lambda f)(x) &= \lim_{\varepsilon \rightarrow 0} \frac{1}{\varepsilon} \{ E^\lambda [f(X(t + \varepsilon)) | X(t) = x] - f(x) \} \\ &= \frac{\lambda}{2} f''(x) u(t, x)^{\alpha-1} - \frac{1-\lambda}{2} f'(x) \frac{(u^\alpha)_x(t, x)}{u(t, x)}, \end{aligned}$$

as was to be proved.

ACKNOWLEDGMENT. I would like to thank Professor Haruo Totoki and Professor Kohei Uchiyama for their constant encouragements and Mr. Tatsuyuki Nakaki with whom I had several discussions on the porous medium equation.

References

- [1] D. G. Aronson, Regularity properties of flows through porous media. *SIAM J. Appl. Math.*, **17**, 416-467 (1969).
- [2] V. F. Baklanovskaya, The numerical solution of a one dimensional problem for equations of non-stationary filtration. *Z. Vycisl. Mat. i Mat. Fiz.*, **1**(3), 461-469 (1961). (=U.S.S.R. Computational Math. and Math. Phys., **1**(3)., 513-525 (1962).)
- [3] G. I. Barenblatt, On some unsteady motions of a liquid and a gas in porous medium. *Prikl. Mat. Mech.*, **16**, 67-78 (1952) (in Russian).
- [4] P. Billingsley, *Convergence of Probability Measures*. Wiley and Sons, New York, 1968.
- [5] J. L. Graveleau and P. Jamet, A finite difference approach to some degenerate nonlinear parabolic equations. *SIAM J. Appl. Math.*, **20**, No. 2, 199-223, March (1971).
- [6] M. Inoue, A Markov process associated with a porous medium equation. *Proc. Japan Acad.*, **60**, Ser. A, No. 5, 157-160 (1984).
- [7] A. S. Kalashnikov, O. A. Oleinik and Chzou Yui-lin, The Cauchy problem and the boundary value problems for equations of type of nonstationary filtration. *Izv. Akad. Nauk. SSSR*, **22**, 667-704 (1958) (in Russian).
- [8] S. Kamenomostskaya, The asymptotic behaviour of the solution of the filtration equation. *Israel Math.*, **14**, 76-87 (1973).
- [9] A. Khintchine, *Asymptotische Gesetze der Wahrscheinlichkeitsrechnung*. Ergebnisse der Mathematik, II, 4, Springer, Berlin, 1933.
- [10] H. P. McKean, A class of Markov processes associated with nonlinear parabolic equations. *Proc. National Academy Sci. U.S.A.*, **56**, 1907-1911 (1966).
- [11] T. Nakaki, On finite difference methods to a porous medium equation. Master's thesis. Hiroshima University, 1982 (in Japanese).
- [12] R. E. Pattle, Diffusion from an instantaneous point source with concentration-dependent coefficient. *Quart. J. Math.*, **12**, 407-409 (1959).
- [13] L. A. Peletier, The porous media equation. *Applications of Nonlinear Analysis in the Physical Sciences*, 229-241 (1973), Pitman.
- [14] M. Pierre, Uniqueness of the solutions of $u_t - \Delta\varphi(u) = 0$ with initial datum a measure. *Nonlinear Anal. TMA*, **6**, 175-187 (1982).

*Yuge College of Mercantile Marine
Yuge, Ehime Prefecture,
Japan*

